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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of simple calculators and non-programmable scientific calculators are permitted.

English version is authentic.

Explain the construction of the Platinum Resistance Thermometer with the figure.

1@ f2du, Az 2HiHlzad oliEsiH vlsld e 1umdl.

Distinguish between transverse waves and longitudinal wave.
Eotold, dZ9LL 2l Uld, dZ0LL 429 <Al dsldd Quil.
Write applications of Viscosity in hydraulic systems.

SlOgAs [Azauul ReaAdsdidl siHl dvil

OR
Find the maximum absolute error in the equivalent resistance when R1=200 + 3Q
and R>=500 + 5Q are connected in series connection. Also present this equivalent
resistance with percentage error.

219204 R1=200 + 3Q 21l R;=500 + 5Q < ZR{HI oY15AHL 2AA dl AHAE, 2AR1H
Ui 266l HedH [Ada 22 2l 20 A1 219208 A Uldad A2 A caldl .

Explain Physical and derived quantities with example.

QAUlds 21l P4ued 2A[LDI GELE0L AL YHMAL
The size of an auditorium is 8000 m®and its total sound absorption is 2500
O.W.U. Find the reverberation time.

25 AMLG < 55 8000 M3 €9 viel d<f 5& =ald 2iwE 2u00 O.W.U.EPL dl d-dl

ALY, UHA 2lHL .

Explain positive errors with figure. Let length of two cylinders are (6.52 +
0.01) cm and (4.48 + 0.02) cm respectively. Find the difference of their length
with percentage error.

215(d A2 WALl 2122 1Hmal
ol U5z <l dous (6.52 +0.01) cm i (4.48 £0.02) cm €9 .di dl dous i

dslad nlasd 22l 249 ol .
OR
Explain Rocket propulsion.

252 UIUELLd AHMAL
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If an object with a mass of 50 Kg is rotated in a circle with a radius of 2m at a
constant speed of 60 m/s. find the centripetal acceleration and the centripetal force.
o7l Uo Kg 291 424dL U2ld 4 2 m [Bosil dlou 4do Wi <o m/s <L 4401 40l 9]
5341 ML 209, 89 .dl S Al UARL 21 5 AHl o liEL

Derive

__ mgl
T mr2al

AlRALY = 2

r2Al

Explain Law of conservation of linear momentum.

2ol doruie el [AaH aumal.
Write ten properties of ultrasonic waves

ve2ldllds ALl £ ARIHHL Quil

The radius of air bubble is 0.5 mm. Calculate its terminal velocity in water.
Density of air=0.0012093 gm/cm? .Density of water= 10° kg/m?, viscosity of
water=102 Ns/m?.

galdl uuizldl Bieral 0.5 mm 69,d-dl wieflui 2l<e do1 il . Density of
air=0.0012093 gm/cm?®.Density of water= 10° kg/m?, viscosity of water=103
Ns/m?,

OR
A metal bar measures 60 cm at 10°C .what would be its length at 110°C. o=1.5
x107°°C1,

Hld w15 ARl doud 10°C diurid 60cm €9 110 dLOC diumie d«l doils s2¢il
291 LU [A2d20 {14 HidAl 7a=1.5 x10°°C L.
Explain terminal velocity.

2uldd ddilZ] dumal .
In the steady state the two ends of a meter rod are at 30°C and 20°C.Find the
temperature at the 60 cm from the end at lower temperature.

Guly 2l Rafd HiHid, <l 245 H{l22 4L uz2l 4L ol 8941 30°C 244 20°C Uz Sl dl
<Alal drumid o 921l 60 cm idR 2AAGL oL, ALUHIA AL .

Derive relation between surface tension and surface energy.

UBALEL 24 YB G A2l Aol dlzAl.

Explain construction and working of Vernier caliper with neat sketch.

A2 5(AuR L 2241 204 stuzedl 2us(d 412 a1mal
Distinguish between Angular acceleration and Linear acceleration.

SLElA UAaLs 2 2o{ld UARLS 423 dsldd, S3.

OR
Explain Laplace’s molecular theory of surface tension.

AL, Al YBALBL Al HIASAER [AZHId AHMAL .
Explain construction and working of Micrometer screw gauge with neat sketch.

WID51HI22 25 35y Al 2L 2 51 Ug2Al 2415(d A8 AHMAl
Give merits and demerits of Bimetallic thermometer.

olAHI[@s A2l 9L 2t WIH|DLL 2L
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Explain Mercury Thermometer.

w52l auidlez auodl
Explain Reynolds Number.

3AlEs ARG HHMA .

Derive
2T cos @
h=——
_ rpg
dl4l
2T cos @
h=——
rpg
OR

Explain Mode of Heat Transfer.

GoHL [AfamA <L 2lal AHmal.
Define Impulse .write its applications.

6101 Al DAL, UHMAL BAel, dell GUALIL G,
A cannon ball of 40 kg mass travels at a speed of 54 km/h. It explodes in two
pieces. If one piece is of mass 15 kg is at rest, find the velocity of the other piece.

=~ =~

40 (54l 201l 245 ALl UL 54 km/h 28U 0Ufd 52 69, d 6l 258120141 [A2512 52 €9, oyl
25 2581 15 kg A6yl s, dl ofloyl 2581 @191l 9oL LAl
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